Janikovska Sipkarska liga -7. sezéna 2022

Celkové poradie po 9. kole

HIGH OUT
HIGH OUT SCORE

DO 18. SiPKY

DO 15. S$iPKY

DO 12. SiPKY

DO 9. SiPKY
BODOVACIA USPESNOST

HERNA USPESNOST
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Bilka Igor 8 129 39

Bernath Adam 15 84 59
Hrnéiar Viliam 9 80 36
Pleva Rastislav 19 66
Kopecky Pavol 16 84
Kunak Pavel, Original 16 76
Hoppan Martin 19 76
Lauko Marko 12 58
Szakmar Martin 23 60
Vrbiak Tomas 17 65
Loffay Pavol 14 51
Pocarovsky Rébert 19 52
PresSinszky Tibor 15 45
Kucman Tomas 3 34
Butora Jozef 24 38
Psota Richard 16 42
Fialka Roman 4 31
Perezlényi Gejza 25 37
Tehlar Lukas 10 29
Nichta Juraj 30 22
Prochaszka Jozef 16 32
Kopac Lubos 14 27
Tvarek Matas 26 29
Milo Zoltan 20 33
Garaiova Vanessa 24 18
Bystricky Ivan 21 14
Trabalik Tomas 12 16
Stajer Lukas 14 13
Zacharova Monika 4
Gazo Radoslav 11
Cernek Lajo 13
Randlisek Daniel 7
Rajéani Martin
Bernat Jan
Slaby Peter
Suba Daniel
Knotek Tomas
Vrana Franta
Fukas Marek
Kovacs Patrik
Cernik Andrej
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